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Answer All Question.  (Calculator can be used)

Time : 03 Hours.
01.  The following information relates to the below mentioned projects.
Projects
X Y Z
Initial Investment - Rs 850,000 900,000 700,000
Expected life 5 Years 5 years 5 years
Scrap value estimated — Rs 60,000 50,000 40,000
Investment in Second year — Rs 150,000 100,000 =
Investment in Third year — Rs - - 200,000
Estimated cash flows :
Year 1 Rs 150,000 220,000 175,000
Year 2 Rs 290,000 230,000 190,000
Year 3 Rs 240,000 230,000 260,000
Year 4 Rs 220,000 290,000 300,000
Year 5 Rs 300,000 210,000 200,000
Estimated cost of capital 8% 7% 10%
You are required to calculate followings for each projects.
a) Payback period and ARR
b) Net Present Value (NPV)
c) Internal Rate of Return (IRR) using formula.
d) Which project could be selected and give reasons for your recommendation.
(30 Marksa)
02.  The standard cost structure for product “p” as follows:
Standard materials :
Rs
50kg of A @ Rs 10 per kg 500,00
30kg of B @ Rs 8 per kg 240,00
60kg of C @ Rs 12 per kg 720,00
Total material Cost 14:(;6-(;(-)-



Standard Direct Labour :
Skilled 40 Hrs @ Rs 20 800.00
Semi — Skilled 30 Hrs @ Rs 18 540.00
Un — Skilled 50 Hrs @ Rs 15 750.00
Total Labour Cost 2090.00
Variable over head 450.00
Total standard cost per unit 4000.00

It is proposed to produce 1200 units of “p” in the month of October 2010

The actual results are :

Direct Material Rs
A : 54000 kg 594,000
B : 35000 kg 315,000
C : 65000 kg 845,000

Direct Labour :

Skilled : 38,500 Hrs 847,000
Semi Skilled : 44,000 Hrs 704,000
Un — Skilled : 60,500 Hrs 726,000
Variable over head 600,000
4631,000

e e ——

Actual production was 1100 “p” in the month of October 2010.
Using the above information you are required to calculate the following variances :
a) Material price, Usage, Total cost variances for each materials.

b) Labour Rate, Efficiency, Total cost variances for each labour.
(20 Marks)

03. a) The sales manager of Mohan & Co. Ltd repots that next year he expects to sell
50,000 units of a certain product.

The production manager consults the store keeper and casts his figures. as follows:

Two kinds of raw materials A and B are required for manufacturing the product.
Each unit of the product requires 2 kg of A and 3 kg of B. The estimated opening
balances at the commencement of the next year are :

Finished product 10,000 Units
A 12000kg , B 15000 kg
The desirable closing balances at the end of the next year are :
Finished product , 14000 Units
A 13000 kg , B 16,000 kg



Draw up a materials purchases budget for the next year.

b) A department of TEE Ceylon limited attains sales of Rs. 600,000 at 80% of its
normal capacity. Its expenses are given below :

Administration Cost : Rs.
Office salaries 90,000
General expenses 2% of sales
Depreciation 7,500
Rent of rates 8,750
Selling Cost :
Salaries 8% of Sales
Traveling 2% of Sales
Sales office 1% of Sales
General expenses 1% of Sales
Distribution Cost :
Wages 15,000
Rent 1% of Sales
Other expenses 4% of Sales

Draw up flexible administration, selling and distribution costs budget, operating at

90% 100% and 110% capacity
(20 Marks)

04.  Given below are summarized accounts of Asok Itd. for year 2009 and 2010.
Balance Sheet (Rs in lakh)

2009 2010
Liabilities :
Share capital 250 250
General reserve 100 172
Debenture 180 150
Term loan 30 30
Creditors 70 56
630 658
Assets :
fixed assets (cost) 500 500
Less : accumulated depreciation 80 1S
Net Fixed Assets 420 385
Cash 55 85
Debtors 65 75
Inventories 90 113

-------------



05.

Income statement (Rs. In lakh)

2009
Net Sales 350
Less : Cost of material 90
Less : Wages 70
Gross profit 190
Less : Selling, general and administration
costs 50
Earnings before depreciation, interest
and tax 140
Less : depreciation 30
Earnings before interest & tax 110
Less : interest 25
Earnings before tax 85
Less : tax 15
Earnings after tax 70
Less : Dividend 25
Retained profit 45

You are required to :
Compute two rations from (i) profitability (ii) liquidity (iii) debt ratio (iv) Assets

activity ratios for the year 2009 and 2010.

Compare and contrast the followings :

Fixed budget and flexible budget
Process costing and standard costing
Relevant Cost & Irrelevant cost.

Budget and budgetary control

khkkR

2010
450
113

70

267

(18 Marks)

(12 Marks)
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